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. VOCABULARY (20 MARKS)
A) From a, b, c and d, choose the most suitable answers:(4x 2=8 )
1- I'm proud of young people who are keento .............................. old people's
opinions.
a. resign b. hibernate
c. honour d. intend
2- War in most countries has caused great losses and damaged .......................coene
a. disturbance b. commentary
c. portfolio d. infrastructure
3- Heisnot only energetic butheisalso ............................. at his job.
a. competent b. palatial
C. abstract d. humid
4- Workshops and lessons are held to mix .................. the old and new.
a- seamlessly b- commercially
c- rapidly d- meticulously
B) Fill in the gaps with the correct words from the list below: (3x 2 =6 )
( promote, densely, chronic, dispute )
5- Mexico Cityisoneofthemost ............................ populated cities in the world.
6- They have been unable to settlethe ........................... over working conditions.
7- Advertising companies always think of new waysto ............................. products.
C) Choose the suitable definitions for the underlined words: (3X 1 =3)
8- He's just been as director of the publishing division.
a. kept from sight. b. chose someone for a position.

c. met by chance. d. made the opposite of what it was.
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9- | give the workers their wages before the end of the day.
a. often / on many occasions. b. closely compacted in a substance
c. usually, habitually. d. smoothly and without seams.
10- Your father was totally shocked when he heard about your mistake .
a. causing death. b. strong, healthy, and full of energy.
C. empty. d. peaceful and quiet , making you feel relaxed

D) Use Only Three of the following words in sentences of your own: (3X1=3 M)

(leafy — dispute — reverse — far and wide — immobile)

Il. STRUCTURES (16 MARKYS)

A) Froma, b, cand d, choose the most suitable answers : (3X 2 =6)

14- The death of his son was an experience from .................... he never fully
recovered.
a. who b. whom
c. whose d. which
15- The infrastructure in the countryside is poor, ............... it's far better in cities.
a. in comparison b. despite
C. whereas d. in spite
16- He asked me where ....................... the final report .
a. | had saved b. had | saved
c. do I save d. did | save
B) Write the correct forms of the verbs between brackets : (3X 2 =6)
17- My teacher has had his laptop (fiX ) .......coooiiiiiiiii . _in this centre.
18- Listen! We won't be abletogoout; it(rain) ..................... _cats and dogs now .
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19- The earthquake (damage ) .........ccooeiiiiiiiniiiiiiiiinnnnn. a large number of

buildings in Japan some time ago.

C) Do as shown between brackets : (2X 2 =4)

20- I've never heard anything so ridiculous. ( Begin with never)
21- "Will you show me your driving license?" ( Reported Speech )

................................................................................................

I1l. LANGUAGE FUNCTIONS (20 M)
A) Write what you would say in the following situations: (4X2% = 10)

22- Your little brother doesn’t chew his food properly.

................................................................................................

................................................................................................

................................................................................................

................................................................................................

B) Complete the missing parts in the following exchanges : ( 4X2%:=10)

(Hamad and his friend Talal are having a chat after the exam)

Hamad: What do you think of the last 3 questions of the exam?
26- Tala:
Hamad: | generally answered them, but they needed a lot of thinking.
27- Tala:

..........................................................................................
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Hamad: What are your expectations of the final results of the test?
28- Tala:
Hamad: I'm by your side. So, what shall we do now?
29- Tala:

V. SET BOOK QUESTIONS (12 M)

A) Answer only “TWO” of the following questions : (2X6 = 12)

30- Unit 7 (Long Lives)

"Many of old people rely on their families and friends for support. There are many things
that old people cannot do as easily as young ones."

a. We can't find geriatric homes easily in Kuwait and the Arab world. Why?

......................................................................................................

......................................................................................................

......................................................................................................

......................................................................................................

31- Unit 8 (Town and Country)

"Large number of people move from their homes in country areas to find better-paid jobs
in towns and cities."

a. There are a lot of problems that some villages suffer from. Discuss.

32- Unit 9 (New ways and old)
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"Bayt Lothan is located in Salmiyah several kilometers south of the centre of Kuwait
City."

a. Bayt Lothan provides us with a lot of innovative activities nowadays. Explain

......................................................................................................

......................................................................................................

Literature Time ( 12 Marks )

A) Answer only “TWO” of the following questions : (2X6 = 12)

33- Great Expectations (Episode one)

" | stole some bread, a hard piece of cheese and a beautiful round meat pie which | thought
would not be missed for some time."

a. Why did Pip steal the food?

......................................................................................................

......................................................................................................

34- Great Expectations (Episode one)

a. " Though he called me boy often , he was about my own age . He seemed older than I,
of course ." (Comment)

b. Why didn't Pip like Stevenson?
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35- Great Expectations (Episode one)

"When | walk up in the night | used to think, with a tiredness of my spirit, that | should
have been happier and better if | had never seen wealth, and had grown up content to be
Joe's partner in the honest old forge."

a. Who is the speaker in the quotation above?

b. In the light of this quotation, do you think one can live happily without being
wealthy? Why?



